RELATIONAL ALGEBRA

SELECT:

o-<select condition>(R)

Ex.:
Opno =4 (EMPLOYEE)
OsaLary > 30000 (EMPLOYEE)

O (SALARY > 30000 AND DNO = 4) 0R bNO = 5 (EMPLOYEE)

PROJECT:
Tl<attribute list>(R)

Ex.:
TSEX, SALARy(EMPLOYE E)

SEQUENCES:

Ex.:

TENAME, LNAME, SALARY(ODNO = 4 (EMPLOYEE))
or
DEP5_EMPS « OpNo = 4 (EMPLOYEE)

TIENAME, LNAME, SALARY (DEP5_EMPS)

UNION:
RESULT «— RESULT1 U RESULT2

INTERSECTION:
RESULT « RESULT1 N RESULT2
RNS=(RUS)-((R-S)U(S—-R)

SET DIFFERENCE:
RESULT « RESULT1 — RESULT2

CARTESIAN PRODUCT OR CROSS PRODUCT OR CROSS JOIN:
R1 X R2

JOIN (a cartesian product with a condition):
R1[><] <join condition> R2
R1[><] <condition> R2 = 0<condition> (R1 X R2)

COMPLETE SET: {0, n, U, —, X}



